BK Ruter
Partavling hcp 2021-09-02

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poang % Namn MID Klubb
1 7 184.4  64.03 Bertil Asplund - Mats Lindgren 11289 7759  BK Ruter
2 10 162.2 56.33  Bengt-Ove Wallenstein - Géran Stylander 1903 7655  Mariestads BS
3 14 157.4 54.67 Ingrid Karlsson - Elisabeth Ahlgren 27592 27629 BK Ruter
4 3 157.3 54.60 Tomas Pettersson - Leif-Ake Karlsson 11286 7762 BK Ruter - Karlskoga BK
5 8 155.8 54.10 Christer Ottosson - Lars Frandberg 7712 31777 Mariestads BS
6 4 154.7 53.70 Hans Fimmerstad - Carl-Ake Frisk 7647 7648  Mariestads BS
7 2 1545 53.66 Sara Andersson - Maj-Britt Sjoberg 64013 64014 Mariestads BS
8 6 148.3 51.50 Kerstin Becker - Lars-Goran Nilsson 7649 7046  Mariestads BS
9 9 147.3 51.13  Anitha Lampinen - Evy Esplund 40928 33929 BK Ruter
10 11 136.3  47.33  Sune Bengtsson - Mona Eriksson 38096 37979 BK Ruter
11 12 125.0 43.42 Wiveka Johansson - Sigbritt Tibblin 88503 39473 BK Ruter
12 5 123.7 42.94  Jorgen Jansson - Els-Marie Arnstrom-Jansson 58391 58392 BK Ruter
13 13 111.5 38.70 Helén Vallgren - Anita Gunnarsson 37703 37701 BK Ruter
14 1 97.6 33.89  Bertil Strand - Barbro Storm 3919 33942 BK Ruter
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Par Kontr Res Par Kontr Ut Res Poéng
2 5 3NS+2 v2 460 4 6 44 N= 620 10| 4 12 4vy N+3 &T 510 10.0
3 11 44 N+1 &7 450 8 14 44 S= 620 10| 9 14 4y N+3 3 510 10.0
4 6 44 N= &K 420 3 11 24 S+3 200 40|10 11 4v N+3 #4 510 10.0
8 14 44 N= +3 420 13 1 34 S+1 170 6.0 3 6 4y N+2 +8 480 5.0
9 10 44 N= v6 420 2 5 44 S-1 -100 00|13 2 4y N+2 +8 480 5.0
12 7 44 N= &K 420 9 10 2NN-1 -100 00| 1 ly N+6 4 260 2.0
13 1 44 N= &T 420 12 7 44 S-1 -100 00| 5 7 2¢vN+4 +8 230 0.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr Ut Res Par Kontr Res Par Kontr Ut Res Poang
4 12 3NS+1 #Q 630 5 1 24V-2 100 10| 5 INDV-2 v4 500 12.0
10 11 3NN= v3 600 14 10 34 O-2 100 10| 2 2y N+3 &3 200 10.0
3 6 INS+2 #Q 150 4 7 2NV-1 50 6.0 |11 2y N+2 &6 170 6.0
5 7 INS+1 #Q 120 11 12 44 V-1 50 6.0 [ 13 29 N+2 v8 170 6.0
9 14 INS+1 v4 120 13 3 44 0-1 50 6.0| 14 2y N+2  ¢9 170 6.0
1 8 3NS-1 &7 -100 2 9 24V= -110 10| 6 8 2y N+1 9 140 2.0
13 2 3NS-1 £Q -100 6 8 24V= -110 10| 4 7 4vyN-1 45 -50 0.0
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr Ut Res Par Kontr Res ing Par Kontr Ut Res Poéng
6 2 44V-1 &K 100 12 1 3NS+2 460 00| 6 9 4vy N+1 43 450 10.0
7 9 44 V-1 ¢4 100 3 10 44 N= 420 40 7 3 4v N+1 &K 450 10.0
5 8 1laV+2 ¢4 -140 7 9 44 N= 420 40|13 5 4v S+1 43 450 10.0
12 1 3a V= &K -140 14 11 44 N= 420 40( 4 11 4v N &3 420 4.0
3 10 14 V+3 &K -170 13 4 34 N= 140 8.0 8 10 4v S 48 420 4.0
13 4 44 V= «K -620 5 8 3vV-1 50 10.0|12 14 4v N +5 420 4.0
14 11 44 V= &K -620 6 2 44 N-1 -50 120 1 2 5V &T 400 0.0
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res g Par Kontr Res Par Kontr Ut Res Poang
6 9 44DV-2 &K 500 .0 00| 7 10 24 S+2 170 10| 9 2NN = vT 120 12.0
7 3 3¢ N+1 &4 130 .0 30 8 4 14 S+3 170 10| 5 2NO-1 3 50 10.0
8 10 3¢ S+1 a2 130 .0 30| 5 12 INN+1 120 40| 8 26 V = &A -110 8.0
4 11 3NS-1 42 -100 .0 60| 2 3 24S= 110 70( 2 2v V+1  &A -140 4.0
1 2 240= *] -110 .0 80[13 6 24 S= 110 70 7 lv V+2  #A -140 4.0
12 14 3NS-2 a2 -200 .0 110 1 14 Pass 1.0]|13 lv V+2 4 -140 4.0
13 5 3NS-2 43 -200 .0 110( 9 11 Pass 10| 1 14 24 N-3 ¥5 -300 0.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Par Kontr Res Par Kontr Ut Res Poang
8 11 2¢ V+3 v2 -150 10 12 44 V-1 50 00| 4 5 4v N= +3 620 11.0
14 2 3¢ V+2 4K -150 3 4 32V+1 -170 3.0[10 6 4v N= s A 620 11.0
3 4 4v0O+1 T -650 9 5 24 V+2 -170 30| 7 2 INN+2 &6 150 8.0
10 12 4v V+1 &3 -650 6 1 44 V= -420 70|11 1 3v N= *6 140 5.0
6 1 3NV+2 v2 -660 14 2 44 V= -420 70[(14 3 3vS= +3 140 5.0
9 5 4v O+2 &8 -680 8 11 44 V+1 -450 0.0[13 8 3vy N-1 4A -100 2.0
13 7 6v O+1 &8 -1460 13 7 3NV +4 -520 20| 9 12 4v N-2 &A -200 0.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Par Kontr Res Par Kontr Ut Res Poang
4 5 4v V-1 &) 100 4 14 44 S+1 450 0| 4 14 6v N= &5 1430 11.0 .0
9 12 49y V-1 3 100 8 3 54 N= 450 .0]13 6y S= «9 1430 11.0 .0
14 3 3v V= a) -140 10 1 44 S+1 450 .0]10 BNS+3 ¢3 690 8.0 .0
11 1 3vV+1l &5 -170 12 2 44 S+1 450 0| 5 4y S+2 +8 680 4.0 .0
7 2 4y V= vA -620 5 6 2v O+1 -140 0| 8 5v S+1 48 680 4.0 .0
10 6 4v V= vA -620 11 7 2v O+1 -140 0|12 4dv S+2 43 680 4.0 .0
13 8 4v V= ¢5 -620 13 9 4v 0= -420 12.0|11 7 2NN+3 ©vA 210 0.0 12.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Par Kontr Res Par Kontr Ut Res Poang
12 8 3vS-2 &J -100 12 8 3NS+4 720 0| 7 2y N+2 &3 170 12.0
6 7 340+2 v¥K -200 1 3 3NS+2 660 0|10 5 2v N+1 &Q 140 10.0
9 4 340+2 vK -200 9 4 4v N+1 650 0| 1 4v N-1  vA -100 6.0
11 2 44 0= +5 -620 6 7 3NS+1 630 013 11 3v N-1 &4 -100 6.0
13 10 44 V= +8 -620 5 14 INS+2 150 0|14 6 4v N-1 #Q -100 6.0
1 3 440+1 ¢5 -650 11 2 2¢ S+2 130 0|12 3 3#0+1 T -130 2.0
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5 14 44 V+1l +¢6 -650 10 11.0|13 10 3NS-1 &A -100 0.0 120 2 4 4vy N-2 £Q -200 0.0 12.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 5 1lv V-4 &7 400 120 00| 3 5 34 N+1 #6 170 120 0.0 2 10 24 O-1 #A 50 10.0 2.0

7 8 1lvyV-2 &7 200 100 20| 8 9 34 N= &7 140 80 40| 3 5 24V-1 4Q 50 100 2.0

1 9 3¢ S+1 &A 130 70 50(13 12 34 N= *6 140 80 40(13 12 2NV-1 +3 50 100 2.0
13 11 4¢ S= a K 130 70 50(|14 7 24 N+1 &6 140 80 40| 8 9 24S-2 +6 -100 6.0 6.0
12 3 3¢ S= s A 110 30 90 1 4 2sV-1 v7 100 40 80| 1 4 240= A -110 3.0 9.0
14 6 2¢ S+1 &A 110 30 90(11 6 3vO= a7 -140 20 100(14 7 24 O= &A -110 3.0 9.0

2 4 3¢ S-1 aA -50 00 120| 2 10 3#N-3 v6 -300 00 12011 6 3NV= *T -400 0.0 12.0
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